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PROBABILITY

1. There are 5 marbles in a bag. 3 of them are

red and 2 of them are blue. What is the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uoiBelImjVA5

probability that a blue marble will be picked?

° Watch Video Solution

2. A teacher chooses a student at random from
a class of 30 boys. What is the probability that

the student chosen is a boy?

° Watch Video Solution

3. A bag contains 20 black marbles, if a marble is

picked at random from the bag. Find the


https://dl.doubtnut.com/l/_uoiBelImjVA5
https://dl.doubtnut.com/l/_8TxUmFKyciSF
https://dl.doubtnut.com/l/_YX9Ot70wHds8

probability that marble picked is of Red colour.

° Watch Video Solution

4. A single card is chosen at random from a
standard deck of 52 playing cards. What is the
probability of choosing a card that is not a

king?

° Watch Video Solution



https://dl.doubtnut.com/l/_YX9Ot70wHds8
https://dl.doubtnut.com/l/_ma0CnVBD7Iqg

5. A card is chosen at random from a standard
deck of 52 playing cards. Without replacing it, a
second card is chosen. What is the probability
that the first card chosen is a queen and the

second card chosen is a jack?

° Watch Video Solution

6. A coin is tossed and a single 6-sided die is
rolled. Find the probability of getting the head

side of the coin and getting a 3 on the die.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_BYrqHQFNdCN0
https://dl.doubtnut.com/l/_MyeMFUrP2w0D

7. From a well - shuffled pack of cards, a card is
drawn at random. Find the probability of its

being either a queen or a heart.

o Watch Video Solution

8. Eight persons A, B, C,D, E, F, G and H appeared
for an inter view. Find the probability that both

A and D are selected in the interview?

° Watch Video Solution



https://dl.doubtnut.com/l/_MyeMFUrP2w0D
https://dl.doubtnut.com/l/_zfPc04NGS7AE
https://dl.doubtnut.com/l/_dC71c4i5Ufjd

9. A teacher gave her students two tests. If 45%
of the students passed both tests and 60%
passed the first test, what is the probability that
a student who passed the first test also passed
the second? Round your answer to the nearest

percent.

o Watch Video Solution

10. What is the probability of each outcome,

when a coin is tossed?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_lcaSWe60s0BW
https://dl.doubtnut.com/l/_hNW1vcqRKHlG

M. A coin is tossed twice, then find the

probability that a head is obtained atleast once.

° Watch Video Solution

12. A single 6-sided die is rolled. What is the
probability of getting an even number and

getting an odd number?

o Watch Video Solution



https://dl.doubtnut.com/l/_hNW1vcqRKHlG
https://dl.doubtnut.com/l/_OQfqO7eefmTT
https://dl.doubtnut.com/l/_MM6ws46neeui
https://dl.doubtnut.com/l/_lwYPw8eSccE0

13. A single 6-sided die is rolled. What is the

probability of getting a2 or a 5?

° Watch Video Solution

14. A total of five cards are chosen at random
from a standard deck of 52 playing cards. What

is the probability of choosing 5 aces?

° Watch Video Solution



https://dl.doubtnut.com/l/_lwYPw8eSccE0
https://dl.doubtnut.com/l/_A5e2wIixHaUy

15. A single card is chosen at random from a
standard deck of 52 playing cards. What is the

probability of choosing a king or a club?

° Watch Video Solution

16. A glass jar contains 1red, 3 green, 2 blue and
4 yellow marbles. If a single marble is chosen at
random from the jar, what is the probability

that it is yellow or green?

° Watch Video Solution



https://dl.doubtnut.com/l/_gpESg8jQKZur
https://dl.doubtnut.com/l/_W4rZSSgqqhTL

17. A person has 2 bags. He has 3 black and 4
white balls in one bag and 4 black and 3 white
balls in another bag. Find the probability of

getting a black ball.

° Watch Video Solution

18.In a Mathematics class of 30 students, 17 are
boys and 13 are girls. On a unit test, 4 boys and
5 girls made an A grade. If a student is chosen

at random from the «class, what is the


https://dl.doubtnut.com/l/_PBzUBk4NF9Jh
https://dl.doubtnut.com/l/_1tlC8NLIRped

probability of choosing a girl or an 'A grade

student'?

o Watch Video Solution

19. A man can hit a target once in 4 shots. if he
fires 4 shot in succession what is probability,

atleast he will hit target once.

° Watch Video Solution



https://dl.doubtnut.com/l/_1tlC8NLIRped
https://dl.doubtnut.com/l/_SAVAqrz5XwNR

20. The probability that it is Friday and a
student is absent, is 0.03. Since, there are 5
school days in a week, the probability that it is
Friday is 0.2. What is the probability that a

student is absent, given that today is Friday?

° Watch Video Solution

Base Level Questions

1. What is the probability that a card drawn at

random from a pack of 52 cards is either a king


https://dl.doubtnut.com/l/_y9dzD1dC3gMm
https://dl.doubtnut.com/l/_ZTHZuCtHS3g3

or a spade?

p 7
- 52

B 2
13

C3
13

13

" 52

Answer: B

° Watch Video Solution

2. A card is drawn from a well-shuffled pck of

cards. The probability of getting a queen of club


https://dl.doubtnut.com/l/_ZTHZuCtHS3g3
https://dl.doubtnut.com/l/_djznirf4oZVi

or a king of heart is

Answer: B

° Watch Video Solution

3. A card is drawn at random from a well

shuffled pack of 52 cards. Find the probability


https://dl.doubtnut.com/l/_djznirf4oZVi
https://dl.doubtnut.com/l/_HtKk6SO3ePuq

that the card drawn is neither a red card nor a

queen.

A1/13
B.7/13
c.10/13

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HtKk6SO3ePuq

4. A single letter is selected at random from the
word PROBABILITY , the probability that it is a

vowel is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tCejYYmqE1WW
https://dl.doubtnut.com/l/_osZrtvFfcbQR

5. What is the probability that a leap year

selected at random contains 53 Sundays is

T
366

5 26
183

I CIEEN

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_osZrtvFfcbQR

6. The probability of drawing a red card from a

deck of playing cards is

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xMn6hRxjOiVy

7.1f a die is thrown, then find the probability of

getting a composite number on the upper face.

o
N = | = |

D.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_TfxAOHIgKXyH

8. Three wunbiased coins are tossed
simultaneously. Find the probability of getting
(i) exactly two heads, (ii) at least two heads, (iii)
at most 2 heads.

A1/8

B.2/8

C.3/8

D.4/8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HZE9rPto2L0Q

9. Let E be the set of all integers with 1 at their
unit places. The probability that a number

chosen from {2, 3, 4......., 50} is an element of E, is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HZE9rPto2L0Q
https://dl.doubtnut.com/l/_L34yH9BqEfHi

10. When two dice are rolled, what is the
probability that the sum of the numbers

appeared on them is 117

>

w
O = §|,_. | =

0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L34yH9BqEfHi
https://dl.doubtnut.com/l/_QFDmg5QYCWNx

11. A committee of 3 members is to be selected
out of 3 men and 2 women. What is the

probability that the committee has at least 1

71(b)9()1(d)9()N f
woman? — 50 (9 39 1o () None o

these


https://dl.doubtnut.com/l/_QFDmg5QYCWNx
https://dl.doubtnut.com/l/_qWv8zVA6TSDr

Answer: C

o Watch Video Solution

12. A basket contains three blue and four red
balls. If three balls are drawn at random from
the basket, what is the probability that all the

three balls are either blue or red?

@

N
— |
q;|°° |


https://dl.doubtnut.com/l/_qWv8zVA6TSDr
https://dl.doubtnut.com/l/_Dz4SH5h0mLQo

Answer: B

° Watch Video Solution

13. An urn contains 3 red and 4 green marbles. If
three marbles are picked at random, what is the

probability that two are green and one is red?


https://dl.doubtnut.com/l/_Dz4SH5h0mLQo
https://dl.doubtnut.com/l/_p5fVSM52LhhX

Answer: B

° Watch Video Solution

14. A number is selected at random from the set
{1, 2, 3, ... , 50}. The probability that it is a
prime, is

A 0.1

B.0.2

C.0.3


https://dl.doubtnut.com/l/_p5fVSM52LhhX
https://dl.doubtnut.com/l/_T8kAzTT9BHD5

D.0.7

Answer: C

° Watch Video Solution

15. A basket contains 4 red , 5 blue and 3 green
marbles .
If two marbles are picked at random , what is

the probability that both are red ?

>
N = 3] w


https://dl.doubtnut.com/l/_T8kAzTT9BHD5
https://dl.doubtnut.com/l/_wfHVzBoLNlsl

D. None of the above

Answer: D

o Watch Video Solution

16. A basket contains 4 red , 5 blue and 3 green
marbles .
If three marbles are picked at random , what is

the probability that at least one is blue ?


https://dl.doubtnut.com/l/_wfHVzBoLNlsl
https://dl.doubtnut.com/l/_PEeXAjBhF6vb

Answer: B

° Watch Video Solution

17. A basket contains 4 red , 5 blue and 3 green

marbles .

If three marbles are picked at random, what is



https://dl.doubtnut.com/l/_PEeXAjBhF6vb
https://dl.doubtnut.com/l/_RkNkPsAYewIs

the probability that either all are green or all

red ?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RkNkPsAYewIs

18. A basket contains 3 blue, 2 green and 5 red
balls.
If three balls are picked at random, what is the

probability that atleast one is red?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PI1QkRCjIstl

19. A bag contains 3 blue, 2 green and 5 red
balls. If four balls are picked at random, what is

the probability that two are green and two are

blue? = (b) = (c) 3 (d) 1
18 70 5 2
1
A. 1
1
B. 0
.3
5
1
D. b)

Answer: B

f _ 1


https://dl.doubtnut.com/l/_PI1QkRCjIstl
https://dl.doubtnut.com/l/_mKg4itAFOa5L

‘ o Watch Video Solution

20. Three mangoes and three apples are kept in
a box. if two fruits are chosen at random, find
the probability that one is a mango and the

other is an apple.

2
A<
g3
i
1
C.=
1
D. =


https://dl.doubtnut.com/l/_mKg4itAFOa5L
https://dl.doubtnut.com/l/_3b0pXivXDbSR

Answer: B

o Watch Video Solution

21. The probability that a man will be alive for 10
more years is % and the probability that his
wife will alive for 10 more years is 3 The
probability that none of them will be alive for 10

more years, is

5
A —

—t

DO |


https://dl.doubtnut.com/l/_3b0pXivXDbSR
https://dl.doubtnut.com/l/_TTyntwSwCZBI

Answer: B

o Watch Video Solution

22. In a lottery 10000 tickets are sold and ten
equal prizes are awarded. What is the
probability of not getting a prize, if you buy one

ticket?

A.9 /10000


https://dl.doubtnut.com/l/_TTyntwSwCZBI
https://dl.doubtnut.com/l/_yuzaPlr1G6ZJ

B.9/10
C. 999 /1000

D. 9999 /10000

Answer: C

o Watch Video Solution

23. Two person A and B appear in an interview

for two vacancies. If the probalities of their

1 1

sections are 1 and 5 respectively, then the

probability that none of them is selected is


https://dl.doubtnut.com/l/_yuzaPlr1G6ZJ
https://dl.doubtnut.com/l/_ov3fiHZfOCFR

5
A —

B.

1

C.

8
5}
2

1
12

1
4

2

D.

Answer: A

° Watch Video Solution

24. The probabilities of solving a problem by

1 1 1

three students AB and C are —, — and —
273 4


https://dl.doubtnut.com/l/_ov3fiHZfOCFR
https://dl.doubtnut.com/l/_Am8BTysmjb48

respectively. The probability that the problem

will be solved, is

>

Wl W N = R

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Am8BTysmjb48

25. Out of 13 applicants for a job, there are 5
women and 8 men. It is desired to select 2
persons for the job. The probability that at least

one of the selected persons will be a woman is

25
39
14
35
2
13
10

D. —
13

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PpkdbvsoSvKG

26. Five coins are tossed at a time. Then, the

probability of obtaining atleast one tail is

A31
" 32

3

8.~
32
1
5

.
32

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PpkdbvsoSvKG
https://dl.doubtnut.com/l/_1ShFGKBf9ZZt
https://dl.doubtnut.com/l/_xvLkm87vpxbI

27. Anurn contains 6 red4 blue ,2 green and
3yellow marbles
If two marbles are picked at random , what is

the probability that both are red ?

1
A'E

1
B'§

2
“15

D. None of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xvLkm87vpxbI

28. Anurn contains 6 red,4 blue ,2 green and
3yellow marbles

If three marbles are picked at random, what is
the probability that two are blue and one is

yellow?


https://dl.doubtnut.com/l/_xvLkm87vpxbI
https://dl.doubtnut.com/l/_nLmGcDqkakhP

Answer: C

o Watch Video Solution

29. Anurn contains 6 red4 blue ,2 green and
3yellow marbles
If four marbles are picked at random , what is

the probability that at least one is blue ?


https://dl.doubtnut.com/l/_nLmGcDqkakhP
https://dl.doubtnut.com/l/_tcb4kAHYA2sM

22
91

Answer: B

° Watch Video Solution

30. An urn contains 6 red, 4 blue, 2 green and 3
yellow marbles.

If two marbles are picked at random, what is the
probability that either both are green or both

are yellow?


https://dl.doubtnut.com/l/_tcb4kAHYA2sM
https://dl.doubtnut.com/l/_odrtDY6IGXiv

Answer: D

° Watch Video Solution

31. Anurn contains 6 red,4 blue ,2 green and
3yellow marbles

If four marbles are picked at random , what is


https://dl.doubtnut.com/l/_odrtDY6IGXiv
https://dl.doubtnut.com/l/_nmB3UbwNzhJk

the probability that one is green , two are blue

and oneisred ?

L2
" 455

13
35

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nmB3UbwNzhJk

32. A box contains 2 blue caps, 4 red caps, 5
green caps and 1 yellow cap.
if two caps are picked at random, what is the

probability that both are blue?

Al
6
1
10
1

B.
T 12

C

D. None of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_68ORrXrHDaO7

33. A box contains 2 blue caps, 4 red caps, 5
green caps and 1 yellow cap.
If four caps are picked at random, what is the

probability that none is green?

Answer: A

f _ 1


https://dl.doubtnut.com/l/_68ORrXrHDaO7
https://dl.doubtnut.com/l/_Nak7j35e44rJ

‘ o Watch Video Solution

34. A box contains 2 blue caps, 4 red caps, 5
green caps and 1 yellow cap.
If three caps are picked at random, what is the

probability that two are red and one is green?

A —
2

9

2
B>
19
1

C.<
3
2

D. —
2


https://dl.doubtnut.com/l/_Nak7j35e44rJ
https://dl.doubtnut.com/l/_xPzItAdDaUO7

Answer: D

o Watch Video Solution

35. A box contains 2 blue caps, 4 red caps, 5
green caps and 1 yellow cap.
If one cap is picked at random, what is the

probability that it is either blue or yellow ?

2
A
1
B. 7
2
"8


https://dl.doubtnut.com/l/_xPzItAdDaUO7
https://dl.doubtnut.com/l/_tDUyHqEuMyvA

Answer: B

° Watch Video Solution

36. A box contains 2 blue caps, 4 red caps, 5
green caps and 1 yellow cap.
If two caps are picked at random, what is the

probability that atleast one is red ?


https://dl.doubtnut.com/l/_tDUyHqEuMyvA
https://dl.doubtnut.com/l/_AVQ3z5i7Immd

Answer: C

o Watch Video Solution

37. A and B are two events such that
P(A) =0.3 and P(AUB) =0.8. If A and B

are independent, then P (B) is

>

| w w|N


https://dl.doubtnut.com/l/_AVQ3z5i7Immd
https://dl.doubtnut.com/l/_6HNhYuusjq7d

C2
7

D. None of the above

Answer: D

° Watch Video Solution

38. A box contains 24 marbles, some are green
and others are blue, if a marble is drawn at
random from the box, the probablity that it is
green is 2 /3. The number of blue balls in the

box is


https://dl.doubtnut.com/l/_6HNhYuusjq7d
https://dl.doubtnut.com/l/_R3kjFKj2oERd

A.a.13

B.b. 12

C.c.16

D.d.0.08

Answer: D

° Watch Video Solution

39. From 4 children, 2 women and 4 men , 4

persons are selected. The probability that there


https://dl.doubtnut.com/l/_R3kjFKj2oERd
https://dl.doubtnut.com/l/_E8eCrHHae5AP

are exactly 2 children among the selected

persons, is

A 11
" 21

B9
" 21

c 10
" 21

D5
S 21

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_E8eCrHHae5AP

40. There are two bags containing white and
black balls. In the first bag, there are 8 white and
6 black balls and in the second bag, there are 4
white and 7 black balls. One ball is drawn at
random from any of these two bags. Find the

probability of this ball being black.

A —

4
C.—

5
9
8
19
1
77
9

D.l—7


https://dl.doubtnut.com/l/_NlnJnaJ5l2kI

Answer: C

o Watch Video Solution

41. A bag contains 3 red, 4 white and 7 black

balls.The probability of drawing a red or a black

ball is

@ >

N
Nl N~ e


https://dl.doubtnut.com/l/_NlnJnaJ5l2kI
https://dl.doubtnut.com/l/_DigH9A7NqJiy

Answer: C

° Watch Video Solution

Higher Skill Level Questions

1. The probability that a man can hit a target is

3 /4. He tries 5 times. The probability that he

will hit the target atleast three times, is

A 291
" 364

371
" 464


https://dl.doubtnut.com/l/_DigH9A7NqJiy
https://dl.doubtnut.com/l/_psPcIivlrSWW

¢ 4
" 502

b 459
" 512

Answer: D

o Watch Video Solution

2. A dice is rolled three times and sum of three
numbers appearing on the uppermost face is 15.

The chance that the first roll was four is

A.2/5

B.1/5


https://dl.doubtnut.com/l/_psPcIivlrSWW
https://dl.doubtnut.com/l/_HzPHej9cOtsm

C.1/6

D. None of these

Answer: D

° Watch Video Solution

3. In a ward-robe, Nitish has 3 trousers. One of
them is black, second is blue and third brown. In
this wardrobe, he has 4 shirts also. One of them
is black and the other 3 are white. He opens his

ward-robe in the dark and picks out one shirt-


https://dl.doubtnut.com/l/_HzPHej9cOtsm
https://dl.doubtnut.com/l/_7VZF5Ww6POVu

trouser pair without examining the colour. What

is the likelihood that neither the shirts nor the

trousers are black?

1

A. a.
D)
1

B. b.

O
n
N N

o
aQ

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7VZF5Ww6POVu

4. Murari has 9 pairs of dark blue socks and 9
pairs of black socks. He keeps them all in the
same bag. If he picks out three socks at random,
what is the probability that he will get a

matching pair?

903 X 901
1803
. 2 x 905 x 2C;
1803

A.

Answer: C

f 1


https://dl.doubtnut.com/l/_OFTkD3X9OrrT

l o Watch Video Solution

5. An anti-aircraft gun can take a maximum of
four shots at an enemy plane moving away from
it. The probability of hitting the plane at the
first, second, third and fourth shots are
0.4,0.3,0.2 and 0.1, respectively, What is the
probability that the plane is hit when all the
four shots are fired? (A) 0.4379 (B) 0.6872 (C)

0.6976 (D) 0.3507

A. 0.4379


https://dl.doubtnut.com/l/_OFTkD3X9OrrT
https://dl.doubtnut.com/l/_C0kNcxdWD0Hi

B.0.6872

C.0.6976

D. 0.3507

Answer: C

° Watch Video Solution

6. Four boys and three girls stand in queue for
an interview. The probability that they stand in

alternate position, is


https://dl.doubtnut.com/l/_C0kNcxdWD0Hi
https://dl.doubtnut.com/l/_ajK2Ji3qBxnl

Answer: B

° Watch Video Solution

7. Five boys and five girls are sitting in a row.
Find the probability that

All the girls are sitting together.


https://dl.doubtnut.com/l/_ajK2Ji3qBxnl
https://dl.doubtnut.com/l/_0hkimTDvWv8q

Answer: A

° Watch Video Solution

8. Five boys and five girls are sitting in a row.
Find the probability that

All the boys are sitting together.


https://dl.doubtnut.com/l/_0hkimTDvWv8q
https://dl.doubtnut.com/l/_N1jXKfFs2rYn

Answer: D

° Watch Video Solution

9. Five boys and five girls are sitting in a row.
Find the probability that

All the girls are sitting together.

N
" 42


https://dl.doubtnut.com/l/_N1jXKfFs2rYn
https://dl.doubtnut.com/l/_YGeG6b5eYgOB

Answer: A

° Watch Video Solution

10. Five boys and five girls are sitting in a row.
Find the probability that

All the boys are sitting together.


https://dl.doubtnut.com/l/_YGeG6b5eYgOB
https://dl.doubtnut.com/l/_Sw7bkONlB2Jf

5. 13
49

il
" 42

42

Answer: C

° Watch Video Solution

11. An elevator starts with 5 passengers and
stops at 8 different floors of the house. Find out
the probability of all the 5 passengers alighting

at different floors.


https://dl.doubtnut.com/l/_Sw7bkONlB2Jf
https://dl.doubtnut.com/l/_5EEVSofIqiR9

A, Jo1
& 512

105
" 512

c ﬂ
512

109
" 512

Answer: B

° Watch Video Solution

12. If a 4-digit number is formed at random
using the digits 1,3,5,7 and 9 without repitition,

then the probability that it is divisible by 5, is


https://dl.doubtnut.com/l/_5EEVSofIqiR9
https://dl.doubtnut.com/l/_vF3iaeiOKjCr

o
Wl o= ofw o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vF3iaeiOKjCr

1. An urn contains 6 red and 9 blue two balls are
drawn from urn one after another without
replacement .

Find the probability of drawing a red ball when

a blue ball has been drawn from the urn .

° Watch Video Solution

2. A pair of dice is thrown simultaneously , find
the probabaility that the sum is obtained 9

when there is an odd number on the first dice.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_TJFpCVrDK0ce
https://dl.doubtnut.com/l/_mOnHgxGYGnVa

3. Let A and B be the two events such that

1 1 1
P(4) = 5, P(B) = 3 and P(ANB) = 7,

find
p A
B

° Watch Video Solution

4. Let A and B be the two events such that

1 1 1
S P(B) = 5 and P(ANB) = -,

P(4) = 3 1


https://dl.doubtnut.com/l/_mOnHgxGYGnVa
https://dl.doubtnut.com/l/_FBSrjEnyfJr2
https://dl.doubtnut.com/l/_ZO0mXmzmTo5S

° Watch Video Solution

5. Let A and B be the two events such that

1 1 1
P(A) = —,P(B) = - and P(ANB) = — ,
2 3 4
find
P(A U B)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZO0mXmzmTo5S
https://dl.doubtnut.com/l/_mV5uXjzqYGwq

6. Let A and B be the two events such that

1 1 1

o Watch Video Solution

7. An urn contains 6 red balls and 9 green balls
two balls are drawn in succession wihout
replacement what is the probability that first is

red and second is green .

‘ ° Wiak~h \iAdan CaAliikian



https://dl.doubtnut.com/l/_9WY7YPqaqyx5
https://dl.doubtnut.com/l/_3JEFx5Kyr0DE
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8. A coin is tossed twice and all 4 outcomes are
equally likely .Let A be the event that first throw
results in a head and B be the event that second
throw results in a tail , then show that the

events A and B are independent .

° Watch Video Solution

9. A bag contains 10 red balls and 10 green balls

, Two balls are drawn at random , one at a time ,


https://dl.doubtnut.com/l/_3JEFx5Kyr0DE
https://dl.doubtnut.com/l/_WofvGzh5MxXA
https://dl.doubtnut.com/l/_nsKauk06MBbu

with replacement . Let A be the event that first
ball is red , B be the event that second ball is
green and C be the event that both balls are
either red or green then show that the events A
,B and C are pair wise independent and A B ,C

are mutally dependent .

° Watch Video Solution

10. ( for explanation of law of total probability )
there are two bags . The first bag contains 4
white and 5 black balls and the second bag

contains 5 white and 4 black balls , two balls are


https://dl.doubtnut.com/l/_nsKauk06MBbu
https://dl.doubtnut.com/l/_Qpoo809aF8Jz

drawn at random from the first bag and are put
into the second bag without noticing their
colours , then two balls are drawn from the
second bag . find the probability that the balls

are white and black.

° Watch Video Solution

1. (for explantion of Baye's rule ) three boxes
contain 6 red , 4 black,5 red, 5 black and 4 red ,
6 black balls repectively one of the box is

selected at random and a ball is drawn from it .


https://dl.doubtnut.com/l/_Qpoo809aF8Jz
https://dl.doubtnut.com/l/_Kr8NnL5WzKTs

If the ball drawn is red , find probability that it is

drawn from the first bag .

o Watch Video Solution

Introductory Exercise 20 1

1. Find the probability of getting a head in a

throw of a coin .

Al
2

B.1


https://dl.doubtnut.com/l/_Kr8NnL5WzKTs
https://dl.doubtnut.com/l/_YolNVvxgBBhk

C.2

D. none of these

Answer: A

° Watch Video Solution

2. two fair coins are tossed simultaneously . Find
the probability of
Getting only one head .

Al/2

B.1/3


https://dl.doubtnut.com/l/_YolNVvxgBBhk
https://dl.doubtnut.com/l/_wKlNRbhFL8tI

c.2/3

D.3/4

Answer: A

o Watch Video Solution

3. two fair coins are tossed simultaneously . Find

the probability of

getting atleast one head .

>

NG I JURIING [


https://dl.doubtnut.com/l/_wKlNRbhFL8tI
https://dl.doubtnut.com/l/_0y1t23f4EzXT

0

o
w|w N+

Answer: B

o Watch Video Solution

4. two fair coins are tossed simultaneously .

Find the probability of

getting two heads .

>
N M


https://dl.doubtnut.com/l/_0y1t23f4EzXT
https://dl.doubtnut.com/l/_BGh8uzvNncRT

N

O
O i N

Answer: B

o Watch Video Solution

5. two fair coins are tossed simultaneously . Find
the probability of

getting atleast two heads :

>
N = ] w


https://dl.doubtnut.com/l/_BGh8uzvNncRT
https://dl.doubtnut.com/l/_mYSlkd2QHfmS

Answer: C

o Watch Video Solution

6. three fair coins are tossed simultaneously .

Find the propability of

getting one head .

A.O

B. 43894


https://dl.doubtnut.com/l/_mYSlkd2QHfmS
https://dl.doubtnut.com/l/_GBBzRqihipqT

0

o
| w oo ot

Answer: D

o Watch Video Solution

7. three fair coins are tossed simultaneously .
Find the propability of

getting one tail .

>~


https://dl.doubtnut.com/l/_GBBzRqihipqT
https://dl.doubtnut.com/l/_p3bL8P60NN8Z

0

o
| w oo ot

Answer: D

° Watch Video Solution

8. three fair coins are tossed simultaneously .
Find the propability of

getting atlest one head .

>
|~ oo


https://dl.doubtnut.com/l/_p3bL8P60NN8Z
https://dl.doubtnut.com/l/_OraLsbDlVyjm

N
= ] w

o

Answer: A

o Watch Video Solution

9. three fair coins are tossed simultaneously .
Find the propability of

getting two heads .

>

| w o w


https://dl.doubtnut.com/l/_OraLsbDlVyjm
https://dl.doubtnut.com/l/_aXem8H66lraV

0

O
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Answer: B

° Watch Video Solution

10. three fair coins are tossed simultaneously .
Find the propability of

getting atlest two heads .

>

|~ oo w


https://dl.doubtnut.com/l/_aXem8H66lraV
https://dl.doubtnut.com/l/_SFFcFLoXhfNs

0

o
N N

Answer: C

o Watch Video Solution

11. three fair coins are tossed simultaneously .
Find the propability of

getting atleast one head and one tail .

>
| = oo o


https://dl.doubtnut.com/l/_SFFcFLoXhfNs
https://dl.doubtnut.com/l/_b1qP9qPpEvZX

Answer: D

o Watch Video Solution

12. three fair coins are tossed simultaneously .
Find the propability of
getting more heads than the number of tails.

A 2

B.7/8


https://dl.doubtnut.com/l/_b1qP9qPpEvZX
https://dl.doubtnut.com/l/_tbE2MMhKszV7

0

O
| = oo on

Answer: D

° Watch Video Solution

13. An unbiased die is rolled find the probability

of
getting a number less than 7 but geater than

Zero .

A.O


https://dl.doubtnut.com/l/_tbE2MMhKszV7
https://dl.doubtnut.com/l/_KD8xOENVwwoY

B. 43894

Answer: C

° Watch Video Solution

14. An unbiased die is rolled find the probability

of

getting a multiple of 3.


https://dl.doubtnut.com/l/_KD8xOENVwwoY
https://dl.doubtnut.com/l/_Jb6FCcglM3bk

@
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o ot w|

D. none of these

Answer: B

° Watch Video Solution

15. An unbiased die is rolled find the probability

of

getting a prime number.


https://dl.doubtnut.com/l/_Jb6FCcglM3bk
https://dl.doubtnut.com/l/_5ZMNWUXk1SUb

%
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Answer: A

° Watch Video Solution

16. An unbiased die is rolled find the probability

of

getting an even number .


https://dl.doubtnut.com/l/_5ZMNWUXk1SUb
https://dl.doubtnut.com/l/_gSPmSgGz1S85

N @

o
| w ool o

Answer: A

° Watch Video Solution

17. A coin is tossed successively three times .
Find the propability of

getting exactly one heads or 2 heads


https://dl.doubtnut.com/l/_gSPmSgGz1S85
https://dl.doubtnut.com/l/_m1KL5jZ2q69R

N @

o
o|w N|= | w

Answer: B

° Watch Video Solution

18. A coin is tossed successively three times .
Find the propability of

getting no heads .

A.0


https://dl.doubtnut.com/l/_m1KL5jZ2q69R
https://dl.doubtnut.com/l/_NvTSMgw3jdfk

N

O
0|~ o]~

Answer: C

° Watch Video Solution

19. Two dice are rolled simultaneously . Find the
probability of

getting a total sum of 9.


https://dl.doubtnut.com/l/_NvTSMgw3jdfk
https://dl.doubtnut.com/l/_wFPg1xD0X2yi

1
B

N

9
8
9
. —

10

Answer: B

° Watch Video Solution

20. Two dice are rolled simultaneously . Find the
probability of

getting a total of 9 or 11.


https://dl.doubtnut.com/l/_wFPg1xD0X2yi
https://dl.doubtnut.com/l/_eei47rxcqjzy

Answer: C

° Watch Video Solution

21. Two dice are rolled simultaneously . Find the
probability of

getting a total of 10 or 11 or 12


https://dl.doubtnut.com/l/_eei47rxcqjzy
https://dl.doubtnut.com/l/_k6ti7P8MLOqG

Answer: C

° Watch Video Solution

22. Two dice are rolled simultaneously . Find the
probability of

getting a doublet .

A1/12


https://dl.doubtnut.com/l/_k6ti7P8MLOqG
https://dl.doubtnut.com/l/_vpXQccumtVJx

B.O
C.5/8

D.1/6

Answer: D

° Watch Video Solution

23. Two dice are rolled simultaneously . Find the
probability of

getting a doublet of even numbers .

A.5/8


https://dl.doubtnut.com/l/_vpXQccumtVJx
https://dl.doubtnut.com/l/_9ytGHX00073X

B.1/12
C.3/4

D.1/4

Answer: B

° Watch Video Solution

24. Two dice are rolled simultaneously . Find the
probability of
getting a multiple of 2 one die and a multiple of

3 on the other.


https://dl.doubtnut.com/l/_9ytGHX00073X
https://dl.doubtnut.com/l/_kNeSNf63d0wR

Answer: C

° Watch Video Solution

25. Two dice are rolled simultaneously . Find the

probability of


https://dl.doubtnut.com/l/_kNeSNf63d0wR
https://dl.doubtnut.com/l/_GHMRCU0OpzS1

getting the sum of numbers on the faces

divisible by 3 or 4.

N
S|\1 Olot g~ Ok

o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GHMRCU0OpzS1

26. Two dice are rolled simultaneously . Find the
probability of

Getting the sum as a prime number .

w >
W DN = = Ot W
| = Blen @

N

o

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aMajuwE67HTl
https://dl.doubtnut.com/l/_KZBQTNkpi0xk

27. Two dice are rolled simultaneously . Find the
probability of

getting atleast one'5'".

>

w
_= W O = Ot W
= glo o= ol

0

D. —

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KZBQTNkpi0xk
https://dl.doubtnut.com/l/_0WmpicO61fYL

28. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is black.

1
A.E

1
B.Z

8
C.l—3

D. can't be determine

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0WmpicO61fYL

29. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is a queen .

1
A.E
1
B.1_3
1
C.Z
3
D.Z

Answer: B

[ P


https://dl.doubtnut.com/l/_0WmpicO61fYL
https://dl.doubtnut.com/l/_mCr3g2ta8JY3

| ) Watch Video Solution

30. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is black and a queen .


https://dl.doubtnut.com/l/_mCr3g2ta8JY3
https://dl.doubtnut.com/l/_evMK0wEin0rl

Answer: C

o Watch Video Solution

31. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is either black or a queen .


https://dl.doubtnut.com/l/_evMK0wEin0rl
https://dl.doubtnut.com/l/_r3Yv89m6yvV1

15
26

Answer: C

° Watch Video Solution

32. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is either king or a queen .

A 5
" 26

1
B. —


https://dl.doubtnut.com/l/_r3Yv89m6yvV1
https://dl.doubtnut.com/l/_K6LjjBLf7UA9

13

12
13

Answer: C

° Watch Video Solution

33. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is either a heart , a queen or a

king .


https://dl.doubtnut.com/l/_K6LjjBLf7UA9
https://dl.doubtnut.com/l/_5gebUfuPqswL

17
52

21
52
19
52

26

Answer: C

° Watch Video Solution

34. One card is drawn from a pack of 52 cards ,

each of the 52 cards being equally likely to be


https://dl.doubtnut.com/l/_5gebUfuPqswL
https://dl.doubtnut.com/l/_qFwz6U9i6QwZ

drawn. Find the probability that

the card drawn is neither a spade nor a king

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qFwz6U9i6QwZ

35. One card is drawn from a pack of 52 cards ,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is neither an ace nor a king .

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Kr1FrLkTOn6v

36. From a well shuffled pack of 52 cards three
cards are drawn at random . Find the probability

of drawing an ace a king and a jaack.

A 16
" 5525

. 16
" 625

c 16
3125

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Kr1FrLkTOn6v
https://dl.doubtnut.com/l/_JJgmBIg8kx7r

37. Four cards are drawn at random from a pack
of 52 cards find the probability of getting all the

four cards of same number.

A 17
" 1665

1
20825

7
25850

B.

C.

D. none of these

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_JJgmBIg8kx7r
https://dl.doubtnut.com/l/_w6TOSh6fi0Pm

38. From a well shufflied pacl of 52 playing cards
, four cards are accidently dropped . Find the
probability that one card is missing from each

suit .

17

" 20825
2197

" 20825

197

¢ 1665

D. none of these

Answer: B

[ 1


https://dl.doubtnut.com/l/_w6TOSh6fi0Pm
https://dl.doubtnut.com/l/_61DQG4xUvBKQ

| ) Watch Video Solution

39. Four cards are drawn at random from a pack
of 52 cards find the probability of getting all the

four cards of different numbers .

A 141
" 4165

, 117
" 833

C 264
" 4165

D. none of these

Answer: C



https://dl.doubtnut.com/l/_61DQG4xUvBKQ
https://dl.doubtnut.com/l/_fycLI7YeExAf

| @Y Watch Video Solution

40. Four dice are thrown simultaneously . Find
the probability that :

All of them show the same face.

Answer: A

[ - |


https://dl.doubtnut.com/l/_fycLI7YeExAf
https://dl.doubtnut.com/l/_Pv3VcAgRx07V

I @ Watch Video Solution I

41. Four dice are thrown simultaneously . Find
the probability that :

All of them show the different face.

Answer: B



https://dl.doubtnut.com/l/_Pv3VcAgRx07V
https://dl.doubtnut.com/l/_XGvwMalWWi39

| QJ Watch Video Solution

42. Four dice are thrown simultaneously . Find
the probability that :
two of them show the same face and remaining

two show the different the faces .


https://dl.doubtnut.com/l/_XGvwMalWWi39
https://dl.doubtnut.com/l/_r4gLqzWe7ZPP

Answer: B

° Watch Video Solution

43. Four dice are thrown simultaneously . Find
the probability that :

Atleast two of them show the same face.

37
72
11
36
47
72
25

D. —
36


https://dl.doubtnut.com/l/_r4gLqzWe7ZPP
https://dl.doubtnut.com/l/_TEXBB5ol9eRM

Answer: C

o Watch Video Solution

44. what is the probability that a number
selected from the numbers 1,2.3,...,20, is a prime
number when each of the given numbers is
equally likely to be selected ?

A.7/10

B.2/15

C.2/5


https://dl.doubtnut.com/l/_TEXBB5ol9eRM
https://dl.doubtnut.com/l/_o578lRTdGMKU

D.3/5

Answer: C

° Watch Video Solution

45. Tickets are numbered from 1 to 18 are mixed
up together and then 9 ticket is drawn at
random . Find the probability that the ticket has

a number , which is a multiple of 2 or 3.

>

ol w W


https://dl.doubtnut.com/l/_o578lRTdGMKU
https://dl.doubtnut.com/l/_JPYqQKQ9XSC1
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Answer: C

° Watch Video Solution

46. In a lottery of 100 tickets numbered 1 to 100
two tickets are drawn simultaneously . Find the
probabilty that both the ticktets drawn have

prime numbers.


https://dl.doubtnut.com/l/_JPYqQKQ9XSC1
https://dl.doubtnut.com/l/_ERwPaiPKJaKS

Answer: A

° Watch Video Solution

47.1n a lottery of 100 tickets numbered 1 to 100
two tickets are drawn simultaneously , find the
probability that none of the tickets drawn has a

prime number .


https://dl.doubtnut.com/l/_ERwPaiPKJaKS
https://dl.doubtnut.com/l/_FoO5vmhpe7yd

A 29
" 66

17
33

37
66

17
50

Answer: C

° Watch Video Solution

48. Find the probability that a leap year selected

at random will contain 53 sundays .


https://dl.doubtnut.com/l/_FoO5vmhpe7yd
https://dl.doubtnut.com/l/_mrVW0xS4OXKf

>

N UIEN § IV GETNG JURREE | I

Answer: D

° Watch Video Solution

49, A bag contains 8 red and 4 green balls . Find

the probabilty that


https://dl.doubtnut.com/l/_mrVW0xS4OXKf
https://dl.doubtnut.com/l/_aCUJJ8Ed8p0E

the ball drawn is red when one ball is selected

at random.

ol o~ W~ W

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aCUJJ8Ed8p0E

50. A bag contains 8 red and 4 green balls . Find
the probabilty that
all the 4 balls drawn are red when four balls are

drawn at random .

L7
32

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oJpbhXQk7D3A

51. A bag contains 8 red and 4 green balls . Find
the probabilty that
All the 4 balls drawn are green when four balls

are drawn at random..

Answer: A

f _ 1


https://dl.doubtnut.com/l/_oJpbhXQk7D3A
https://dl.doubtnut.com/l/_oqnHbuaiHeSz

‘ o Watch Video Solution

52. A bag contains 8 red and 4 green balls . Find
the probabilty that
Two balls are red and one ball is green when

three balls are drawn at random .

A 95
99

. 112
" 495

T
" 495

D. none of these


https://dl.doubtnut.com/l/_oqnHbuaiHeSz
https://dl.doubtnut.com/l/_C5MkbuNo4pD7

Answer: D

o Watch Video Solution

53. A bag contains 8 red and 4 green balls . Find
the probabilty that

three balls are drawn and none of them is red .

A 68
99

5.
1 99

c 2
495

D. none of these


https://dl.doubtnut.com/l/_C5MkbuNo4pD7
https://dl.doubtnut.com/l/_2NmwBDwTlatc

Answer: D

o Watch Video Solution

54. The odds in favour if an event are 2 :7 find

the probability of occurrence of this event .

2
A

9
2
12
T
12
2
5

N

B.

D


https://dl.doubtnut.com/l/_2NmwBDwTlatc
https://dl.doubtnut.com/l/_lnj6J517n160

Answer: A

o Watch Video Solution

55. The odds against of an event are 5:7 , find

the probility of occurrence of this event .

NE
i
5.
12
2
7
5
D. —

12


https://dl.doubtnut.com/l/_lnj6J517n160
https://dl.doubtnut.com/l/_IdYz40b6UNOv

Answer: B

o Watch Video Solution

56. If there are two children in a family, find the

probability that there is atleast one girl in the

family .
A=

4

8. =

2

c2

4

D. none of these


https://dl.doubtnut.com/l/_IdYz40b6UNOv
https://dl.doubtnut.com/l/_GxPQQzw4AVFc

Answer: C

o Watch Video Solution

57. From a group of 3men and 2 women , two
persons are selected at random . Find the

probability that atleast one women is selected .

1
A=
B
10
2
C.=
5
D. &


https://dl.doubtnut.com/l/_GxPQQzw4AVFc
https://dl.doubtnut.com/l/_QWgyq16PKXSH

Answer: B

o Watch Video Solution

58. A box contains 5 defective and 15 non -
defective bulbs two bulbs are chosen at random
. Find the probability that both the bulbs are

non - defective .


https://dl.doubtnut.com/l/_QWgyq16PKXSH
https://dl.doubtnut.com/l/_nhZp8mWdShD7

D. none of these

Answer: C

° Watch Video Solution

59. A box contains 5 defective and 15 non -
defective bulbs . , find the probability that
atleast 3 bulbs are defective when 4 bulbs are

selected at random .

A 31
" 969

5.
120


https://dl.doubtnut.com/l/_nhZp8mWdShD7
https://dl.doubtnut.com/l/_p3E3GNtCCA9r

D. none of these

Answer: A

o Watch Video Solution

Introductory Exercise 20 2

1. The probability of occurrence of two events A

and B are 1/4 and 1/2 respectively . The

probability of their simultaneous occurrence is


https://dl.doubtnut.com/l/_p3E3GNtCCA9r
https://dl.doubtnut.com/l/_7P9rkg67lZpr

5—70. Find the probability that either A or B must

occur.

61
100

29
100

¢ 39
' 100

56
99

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7P9rkg67lZpr

2. The probability of occurrence of two events A
and B are 1/4 and 1/2 respectively . The

probability of their simultaneous occurrence is

l., find the probability that neither A nor B

50

OCcurs .

L2
" 99

39

" 100

c 61
' 100

17

D. —
100

Answer: B

f


https://dl.doubtnut.com/l/_64BbXjlDy1cB

l O Watch Video Solution

3. If A and B be two events in a sample space

such that
PA—3 dB—1 dPAﬁB—1
()—1—0311 P()—gan ( )—g
.Find P(A U B).

>

o ofw oo o =


https://dl.doubtnut.com/l/_64BbXjlDy1cB
https://dl.doubtnut.com/l/_eCXesIeyLrL9

Answer: C

o Watch Video Solution

4. IF A and B be two events in a sample space

such that
2 1 3
P(A) — g,P(B) = 5 and P(AUB) = 5
find P(A N B)
A S
" 10
g
" 10


https://dl.doubtnut.com/l/_eCXesIeyLrL9
https://dl.doubtnut.com/l/_KfBKBZ9SytPq

Answer: A

o Watch Video Solution

5.1f A and B be two mutually exclusive events in

a sample space such

2 1
P(A) = g and P(B) = 5 then
find P(A):

>

ol w o N

that

’


https://dl.doubtnut.com/l/_KfBKBZ9SytPq
https://dl.doubtnut.com/l/_VXc8heKSXCVZ

0

O
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Answer: B

o Watch Video Solution

6.1f A and B be two mutually exclusive events in

a sample space such

2 1
P(A) = 5 and P(B) = 5 then
find P(B):

that

’


https://dl.doubtnut.com/l/_VXc8heKSXCVZ
https://dl.doubtnut.com/l/_iJtMdPuRC2iC
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O
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Answer: C

° Watch Video Solution

7.1f A and B be two mutually exclusive events in

a sample space such
2 1
P(A) = 5 and P(B) = 3 then

find P(A U B):

that

’


https://dl.doubtnut.com/l/_iJtMdPuRC2iC
https://dl.doubtnut.com/l/_PrzdZB718uAh

Answer: C

° Watch Video Solution

8.1f A and B be two mutually exclusive events in

a

sample space

such

that

’


https://dl.doubtnut.com/l/_PrzdZB718uAh
https://dl.doubtnut.com/l/_O8h98lum8KoJ

2 1
P(A) = g and P(B) = 5 then

find P(A N B):

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_O8h98lum8KoJ

9.If A and B be two mutually exclusive events in

a sample space such that ,
2 1
P(A) = 5 and P(B) = 5 then
find P(A N B):
A 1
"2
. 3
5
c 2
7
D~
15
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BrCiwBo9ieVF

10. If A and B be two mutually exclusive events in

a sample space such that ,

2 1
P(A) = 5 and P(B) = 3 then

find P(A N B):
A. —

B

N

1
5
2
5
4
1
3

15
D.
10

Answer: B

f _ 1


https://dl.doubtnut.com/l/_BrCiwBo9ieVF
https://dl.doubtnut.com/l/_BredrJYId8nK

‘ o Watch Video Solution

1.IF P(A) = 0.65, P(A U B) = 0.65, where A
and B are two mutully exclusive events , then
find P(B ) .

A. 0.60

B.0.30

C.0.70

D. none of these

Answer: B

f 1


https://dl.doubtnut.com/l/_BredrJYId8nK
https://dl.doubtnut.com/l/_MvR2DGKTUyQa

l o Watch Video Solution |

12.if A ,B and C are three mutually exclusive and

exhaustive events . Find P(A) , if

P(B) = %P(A) and P(C) = %P(B)

Answer: C

[ = 1


https://dl.doubtnut.com/l/_MvR2DGKTUyQa
https://dl.doubtnut.com/l/_mnlTGCSSTKZk

| ) Watch Video Solution

13. Two dice are tossed once. Find the
probability of getting an even number on the

first die or a total of 8.

o
wW|l— ol wlNn Ok

Answer: C

[ - 1


https://dl.doubtnut.com/l/_mnlTGCSSTKZk
https://dl.doubtnut.com/l/_8TZkxNu63RwF

| @Y Watch Video Solution

14. A die is thrown twice , what is the
probabaility that atleast one of the two thrown

comes up with the number 5?

c 15
" 36

D. none of these

Answer: A

[ - |


https://dl.doubtnut.com/l/_8TZkxNu63RwF
https://dl.doubtnut.com/l/_nKgxVLVOfEc7

I @ Watch Video Solution I

15. In a single throw of two dice , find the
probability that neither a doublet nor a total of

8 will appear .



https://dl.doubtnut.com/l/_nKgxVLVOfEc7
https://dl.doubtnut.com/l/_vuHjQZnokPHo

| QJ Watch Video Solution

16. A die is thrown twice, what is the probability

that atleast one of the two numbers is 6 ?

11

S| = |
|\‘ | @|,_.

(V)
(@)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vuHjQZnokPHo
https://dl.doubtnut.com/l/_XUafBDzO0f63

17. A card is drawn at random from a well-
shuffled deck of 52 cards. Find the probability of

its being a heart or a king.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XUafBDzO0f63
https://dl.doubtnut.com/l/_YL2wzHVibhmK

18. Two cards are drawn at random from a well-
shuffled pack of 52 cards. What is the
probability that either both are red or both are

queens?

A 17
S 112

95
221

55
121

33

> 221

Answer: B

| o |


https://dl.doubtnut.com/l/_YL2wzHVibhmK
https://dl.doubtnut.com/l/_3iguVEvEPYVG

| & Watch Video Solution

19. A card is drawn from a deck of 52 cards. Find
the probability of getting a red card or a heart

or a king.

Answer: B



https://dl.doubtnut.com/l/_3iguVEvEPYVG
https://dl.doubtnut.com/l/_Dk8iieioNRZe

[ & Watch Video Solution

20.860% of 50 + 50% of 860 = ?

A.a.430

B.b. 516

C.c. 860

D. d. 960

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Dk8iieioNRZe
https://dl.doubtnut.com/l/_na363KEyQ9o7
https://dl.doubtnut.com/l/_QL4vTqnytAze

21. From a well-shuffled pack of 52 cards, a card
is drawn at random. Find the probability that

the drawn card is a king or a queen.

2
13
8
13
11
13

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QL4vTqnytAze
https://dl.doubtnut.com/l/_kiMHV4psT4o3

22. What percent of a day is 3 hours?

A.a.121/2%

B.b.16 1/3%

C.c.18 2/3%

D.d. 22 1/3%

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kiMHV4psT4o3

23. A natural number is chosen at random from
amongst the first 300. what is the probability

that the number , so chosen is divisible by 3 or 5

?

A 48
" 515

B &
" 150

C.1/2

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l3UiwApzPft4

24. A natural number is chosen at random from
the first 100 natural numbers. What is the
probability that the number chosen is a

multiple of 2 or 3 or 57

Answer: C

f _ 1


https://dl.doubtnut.com/l/_l3UiwApzPft4
https://dl.doubtnut.com/l/_XLQ9St3b7iLp

‘ o Watch Video Solution

25. A box contains 5 red balls, 8 green balls and
10 pink balls. A ball is drawn at random from the
box. What is the probability that the ball drawn

is either red or green?

A 13
23

10
B. 23
11
C. 23

5 13
" 529


https://dl.doubtnut.com/l/_XLQ9St3b7iLp
https://dl.doubtnut.com/l/_ZqfepmcoTI57

Answer: A

o Watch Video Solution

26. A basket contains 20 apples and 10 oranges
out of which 5 apples and 3 oranges are
defective. If a person takes out 2 at random
what is the probability that either both are

apples or both are good?


https://dl.doubtnut.com/l/_ZqfepmcoTI57
https://dl.doubtnut.com/l/_2MbUJ4lfQVhI

c 316
" 435

5 158
" 435

Answer: C

° Watch Video Solution

27. In a class 40% of the students offered
Physics 20% offered Chemistry and 5% offered
both. If a student is selected at random, find the
probability that he has offered Physics or

Chemistry only.


https://dl.doubtnut.com/l/_2MbUJ4lfQVhI
https://dl.doubtnut.com/l/_EsQIPmUV6LM4

A. 45 %

B.55 %

C.36 %

D. none of these

Answer: B

° Watch Video Solution

28. The probability that an MBA aspirant will
- 2 I 1
join lIM is 5 and that he will join XLRI is 3 find

the probability that he will join IIM or XLRI.


https://dl.doubtnut.com/l/_EsQIPmUV6LM4
https://dl.doubtnut.com/l/_4BlMC1SSdwff

Answer: C

° Watch Video Solution

29. In a given race, the odds in favour of horses
A,B,CDarel:3,1:4,1:5,1:6 respectively. The

probability that horse C wins the race is


https://dl.doubtnut.com/l/_4BlMC1SSdwff
https://dl.doubtnut.com/l/_ruG8ixA5fJKW

57
60
1

20
2
7

D. -

60

Answer: A

° Watch Video Solution

Introductory Exercise 20 3


https://dl.doubtnut.com/l/_ruG8ixA5fJKW

1. If A and B are two events such that P(A) = 0.5,

A
P(B) = 0.6 and P(A U B) =0.8. Find P(E)

A.

= N = W

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dmU1vGAyGE1t

2. If Aand B are two events such that P(A) = 0.4,

P(B) = 0.8 and P(%) = 0.6, find P(A U B):

A.0.24
B.0.96
C.0.04

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eAoe24zBx19J

3. Three fair coins are tossed. Find the
probability that they are all tails, if one of the

coins shows a tail.

>

w
| = E|U‘ 3| o

0

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9zSRuEtzV9fD
https://dl.doubtnut.com/l/_3PypCY3yxxil

4. A coin is tossed twice and the four possible
outcomes are assumed to be equally likely. If A'is
the event, both head and tail have appeared,

and B be the event, at most one tail is observed,

find P(A), P(B), P(A/B) and P(B/A).

A2
3
J 12
"3’ 3
c.1,=

D. none of these

Answer: A

f _ 1


https://dl.doubtnut.com/l/_3PypCY3yxxil

‘ o Watch Video Solution

5. Consider a random experiment in which a
coin is tossed and if the coin shows head it is
tossed again but if it shows a tail then a die is
tossed. If 8 possible outcomes are equally likely.
Find the probability that the die shows a
number greater than 4 if it is known that the

first throw of the coin results in a tail.

>

Wl Wl


https://dl.doubtnut.com/l/_3PypCY3yxxil
https://dl.doubtnut.com/l/_QP6Nw0kRgDN9

2
"5
. 2
15

Answer: A

° Watch Video Solution

6. A die is rolled . If the outcome is an odd

number what is the probability that it is prime ?

>

©|~ oo|w


https://dl.doubtnut.com/l/_QP6Nw0kRgDN9
https://dl.doubtnut.com/l/_a1gbexIXHEst

C2
3

D. none of these

Answer: C

° Watch Video Solution

7. A die is thrown twice and the sum of the
numbers appearing is observed to be 9. What is
the conditional probability that the number 4

has appeared atleast once ?

Al
2


https://dl.doubtnut.com/l/_a1gbexIXHEst
https://dl.doubtnut.com/l/_D5YEBq5ClKJX

@

O
&~ w w|

D. none of these

Answer: A

° Watch Video Solution

8. Two dice are thrown. Find the probability that
the sum is 8 or greater than 8, if 4 appears on

the first die.

A3
"8


https://dl.doubtnut.com/l/_D5YEBq5ClKJX
https://dl.doubtnut.com/l/_p1ybAhPzSdGM

%

N
| = oo on

D. none of these

Answer: C

° Watch Video Solution

9. A die is rolled. If the outcome is an odd
number, what is the probability that it is a

number greater than 1?7

A2
3


https://dl.doubtnut.com/l/_p1ybAhPzSdGM
https://dl.doubtnut.com/l/_SQ3LicpjXUMD

@

Q)
S| ov oo|lw w|H—

o

Answer: A

° Watch Video Solution

10. In a class 45% students read English, 30%
read French and 20% read both English and

French. One student is selected at random. Find


https://dl.doubtnut.com/l/_SQ3LicpjXUMD
https://dl.doubtnut.com/l/_J1x1cPvp2v5z

the probability that he reads English, if it is

known that he reads French.

1
A3
2
B. <
2
6

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_J1x1cPvp2v5z

1. In a class 45% students read English, 30%
read French and 20% read both English and
French. One student is selected at random find
the probability that he reads French, if it is

known that he reads English.

=
i
g >
i
2
c3
1
D°§

Answer: A

f 1


https://dl.doubtnut.com/l/_uXSZ2uEQXg6I

l o Watch Video Solution

12. A couple has two childen . Find the
probability that both are boys ,if it is known

that one of the children is a boy .

N w

o
O Wl Wk o=

Answer: B

f _ 1


https://dl.doubtnut.com/l/_uXSZ2uEQXg6I
https://dl.doubtnut.com/l/_1xOndxjyYFMB

‘ o Watch Video Solution

13. A couple has two childen . find the
probability that both are boys ., if it is known

that the older child is a boy .

N @

O
| w oo]ot N = oo w

Answer: B

f 1


https://dl.doubtnut.com/l/_1xOndxjyYFMB
https://dl.doubtnut.com/l/_sbeXUaL6QGi9

I o Watch Video Solution |

14. A bag contains 3 red and 4 black balls and
another bag has 4 red and 2 black balls . One
bag is selected at random and from the selected
at random and from the selected bag a ball is
drawn .Let E be the event the first bag is
selected F be the event that the second bag is

selected ,G be the event that ball drawn is red .

find P(E)

Al
2


https://dl.doubtnut.com/l/_sbeXUaL6QGi9
https://dl.doubtnut.com/l/_e76x601UBbrk

%

o N
o|ot x|~ | w

Answer: A

° Watch Video Solution

15. A bag contains 3 red and 4 black balls and
another bag has 4 red and 2 black balls . One
bag is selected at random and from the selected

at random and from the selected bag a ball is


https://dl.doubtnut.com/l/_e76x601UBbrk
https://dl.doubtnut.com/l/_iztxijCsk6Sw

drawn .Let E be the event the first bag is
selected F be the event that the second bag is
selected ,G be the event that ball drawn is red .

find P(F )

S~ |~ N~ | w

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iztxijCsk6Sw

16. A bag contains 3 red and 4 black balls and
another bag has 4 red and 2 black balls . One
bag is selected at random and from the selected
at random and from the selected bag a ball is
drawn .Let E be the event the first bag is
selected F be the event that the second bag is

selected ,G be the event that ball drawn is red .
find P G
" E

A.

x
| w E|°‘ | ot

0


https://dl.doubtnut.com/l/_lhALSmrjiGPv

D. none of these

Answer: C

° Watch Video Solution

17. A bag contains 3 red and 4 black balls and
another bag has 4 red and 2 black balls . One
bag is selected at random and from the selected
at random and from the selected bag a ball is
drawn .Let E be the event the first bag is

selected F be the event that the second bag is


https://dl.doubtnut.com/l/_lhALSmrjiGPv
https://dl.doubtnut.com/l/_7EtY3hcWxina

selected ,G be the event that ball drawn is red .

G
find P(F)

o >
o O]t O~ W

0

o

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7EtY3hcWxina

18. Two balls are drawn from an urn containing 2
white; 3 red and 4 black balls one by one
without replacement. What is the probability

that at least one ball is red?

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YyAeQvQYEnYP

19. A bag contains 6 red and 9 blue balls. Two
successive drawing of four balls are made such
that the balls are not replaced before the
second draw. Find the probability that the first
draw gives 4 red balls and second draw gives 4

blue balls.

3
715

T
715

15
233

D. none of these


https://dl.doubtnut.com/l/_YyAeQvQYEnYP
https://dl.doubtnut.com/l/_dSC4q7oZUJgF

Answer: A

o Watch Video Solution

20. An urn contains 4 white 6 black and 8 red
balls. If 3 balls are drawn one by one without
replacement, find the probability of getting all

white balls.

C.13/204


https://dl.doubtnut.com/l/_dSC4q7oZUJgF
https://dl.doubtnut.com/l/_x2kO093XYrFK

D. none of these

Answer: B

° Watch Video Solution

21. Two numbers are selected at random from
integers 1 through 9. If the sum is even, find the
probability that both the numbers are odd.
A.5/8
B.3/8

C.3/10


https://dl.doubtnut.com/l/_x2kO093XYrFK
https://dl.doubtnut.com/l/_vO8K06eBFFPu

D. none of these

Answer: A

° Watch Video Solution

22. A box contains 25 tickets, numbered 1, 2, 3, ..
25. A ticket is drawn and then another ticket is
drawn  without replacement. Find the
probability that both tickets will show odd

numbers.

N
" 50


https://dl.doubtnut.com/l/_vO8K06eBFFPu
https://dl.doubtnut.com/l/_zae3gQ3z52gx

8 13
" 50

C.13/25

D. none of these

Answer: B

o Watch Video Solution

Introductory Exercise 20 4

1. Let A and B be independent events such that

P(A) =0.6 and P(B ) =0.4.


https://dl.doubtnut.com/l/_zae3gQ3z52gx
https://dl.doubtnut.com/l/_4LSj9TCPIyJ0

find P(A N B)

A.0.24
B.0.76
C.0.56

D. none of these

Answer: A

° Watch Video Solution

2. Let A and B be independent events such that

P(A) =0.6 and P(B ) =0.4.


https://dl.doubtnut.com/l/_4LSj9TCPIyJ0
https://dl.doubtnut.com/l/_9kfGRwXlpmle

find P(A U B).

A.0.24
B.0.76
C.0.36

D. none of these

Answer: B

° Watch Video Solution

3. Let A and B be independent events such that

P(A) =0.6 and P(B ) =0.4.


https://dl.doubtnut.com/l/_9kfGRwXlpmle
https://dl.doubtnut.com/l/_iqeiNLktWurb

find P(A N B)

A.0.24
B.0.16
C.0.36

D. none of these

Answer: B

o Watch Video Solution

4. Let A and B be independent events such that

P(A) =0.6 and P(B ) =0.4.


https://dl.doubtnut.com/l/_iqeiNLktWurb
https://dl.doubtnut.com/l/_z1FuVx9iAZAr

find P(A N B)

A.0.24
B.0.56
C.0.36

D.0.76

Answer: C

° Watch Video Solution

5. Let A and B be independent events such that

P(A) =0.6 and P(B ) =0.4.


https://dl.doubtnut.com/l/_z1FuVx9iAZAr
https://dl.doubtnut.com/l/_tnzMcKPFlxqn

find P(A N B)

A.0.76
B.0.54
C.0.36

D.0.24

Answer: D

o Watch Video Solution

6. IF A and B are two indepenent events such

that P(A) =0.65, P(AUB) =0.65 and


https://dl.doubtnut.com/l/_tnzMcKPFlxqn
https://dl.doubtnut.com/l/_Cpr6PX9B7fJM

P(B) = p, find the value of p.

i
13
6
13

37
65

D. none of these

Answer: B

o Watch Video Solution

7. An unbiased die is tossed twice. Find the

probability of getting a 1, 2, 3 or 4 on the first


https://dl.doubtnut.com/l/_Cpr6PX9B7fJM
https://dl.doubtnut.com/l/_dTOJBZYRc8TN

toss and a 4, 5 or 6 on the second toss.

N @

o
o~ oot wln Wl

Answer: A

° Watch Video Solution

8. How many liters of pure acid are there in 8

liters of a 20% solution?


https://dl.doubtnut.com/l/_dTOJBZYRc8TN
https://dl.doubtnut.com/l/_MA31bItDwKKJ

A a. 14

B.b.15

C.c.16

D.d.24

Answer: A

° Watch Video Solution

9. Two persons A and B throw a coin

alternatively till one of them gets head and wins


https://dl.doubtnut.com/l/_MA31bItDwKKJ
https://dl.doubtnut.com/l/_j95o7mYd4kaL

the game. Find their respective probabilities of

winning.
Al
3’6
g2 4
5’ 5
21
3’3
p. L1 2
6’ 6
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_j95o7mYd4kaL

10. Three persons A, B, CL throw a die in
succession till one gets a six and wins the game.
Find their respective probabilities of wining , if A

begins.

36 30 25
A 91’ 91’ 91
10 16 22
. 71° 91’ 81
13 15 17
¢ 61’ 61° 61

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VkZnOleWmyJt

11. A and B take turns in throwing two dice, the
first to throw 9 being awarded the prize. Show

that their chance of winning are in the ratio 9:8.

AT/8
B.9/8
C.8/7

D.9/10

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VkZnOleWmyJt
https://dl.doubtnut.com/l/_CJr9cOtqdeY7

12. From a pack of 52 cards, two are drawn one
by one without replacement. Find the

probability that both of them are kings.

A 11
S 21

. 13
S 121

1
221

1

D. —
121

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CJr9cOtqdeY7
https://dl.doubtnut.com/l/_LqcEkc8GJJcO

13. Ashmit can solve 80 % of the problem given
in a book and amisha can solve 70% . What is
the probability that at least one of them will

solve a problem , selected at random from the

book ?

A. 0.60

B. 0.06

C.0.94

D. 0.56


https://dl.doubtnut.com/l/_LqcEkc8GJJcO
https://dl.doubtnut.com/l/_veoxzxyzWLt1

Answer: C

o Watch Video Solution

1
14. The probability that A hits a target is 3 and
2
the probability that B hits It is 5 What is the
probability that the target will be hit , if each

one of A and B shoots the target ?

>

ol w o ot

C.—
15


https://dl.doubtnut.com/l/_veoxzxyzWLt1
https://dl.doubtnut.com/l/_poM1SeAqfis2

Answer: B

° Watch Video Solution

15. A problem of mathematics is given to three
students A, B, and C, whose chances of solving it
are 1/2, 1/3, 1/4 respectively. Then find the

probability that the problem will be solved.

>
(NN NG


https://dl.doubtnut.com/l/_poM1SeAqfis2
https://dl.doubtnut.com/l/_iq7J1u0MGP2W

3
4

D
12

Answer: C

° Watch Video Solution

16. If rs. 2800 is 2/7th of the value of a house,

the worth of the house in rs. is?

A. a. 8 lakh

B. b. 9.8 lakh


https://dl.doubtnut.com/l/_iq7J1u0MGP2W
https://dl.doubtnut.com/l/_FNygOj7ymlv2

C.c.10 lakh

D. d. none of these

Answer: B

° Watch Video Solution

17. If 35% of a number is 175, then 175 is what

percent of that number?

A.a.35%

B.b.65%


https://dl.doubtnut.com/l/_FNygOj7ymlv2
https://dl.doubtnut.com/l/_Y3iAi7a0mQhf

C.c.280%

D.d. 420%

Answer: A

° Watch Video Solution

18. An agent gets a commission of 2.5% on the
sales of cloth. If on a certain day, he gets rs.
12.50 as commission, the cloth sold through him

on that day is worth ?

A. a.rs.250


https://dl.doubtnut.com/l/_Y3iAi7a0mQhf
https://dl.doubtnut.com/l/_QheUyTsI5okY

B. b. rs.500

C.c.rs.750

D. d.rs.1250

Answer: A

° Watch Video Solution

19. The probability that A can solve a problem is

3 and the probability that B can solve the same
3

problem is 5 Find the probability that atleast

one of A and B will be able to solve the problem.


https://dl.doubtnut.com/l/_QheUyTsI5okY
https://dl.doubtnut.com/l/_5pESwsFFClNx

12
15
13
15
19
45

D. none of these

Answer: B

° Watch Video Solution

20. A person's salary has increased from rs.
14400 to rs. 16200. What is the percentage

increase in his salary?


https://dl.doubtnut.com/l/_5pESwsFFClNx
https://dl.doubtnut.com/l/_nYkLjL5UhSXP

A. a.25%

B.b.12.5%

C.c.20%

D.d.35%

Answer: C

° Watch Video Solution

21. The probabilites that a student will receive
an AB ,C or D grade are 04 , 03 ,0.2 and 0.

respectively . Find the probabilty that a student


https://dl.doubtnut.com/l/_nYkLjL5UhSXP
https://dl.doubtnut.com/l/_pUQ1ELkbb9qL

will receive

Not an A grade..

A.0.4

B.0.6

C.0.56

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pUQ1ELkbb9qL

22. The probabilites that a student will receive
an AB ,C or D grade are 04 , 0.3 ,0.2 and 0.
respectively . Find the probabilty that a
stuedent will recive
at most a C grade.

A.0.3

B.0.7

C.0.36

D. none of these

Answer: A



https://dl.doubtnut.com/l/_rWvITOdTH14B

l ° Watch Video Solution

23. A's salary is 20% less than B’s salary. Then

B's salary is more than A's salary by

A.0.2

B.0.5

C.0.8

D.0.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rWvITOdTH14B
https://dl.doubtnut.com/l/_0BYb8nADENE0

24.The price of an article of rs100 is icreased by

20% the again its price increased by 10%. How

much is price increased in total price?

A.a.32

B.b.20

C.c.30

D. d. none of these

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_0BYb8nADENE0
https://dl.doubtnut.com/l/_PRhobUJPvJzk

25. If 50% of (x-y) = 30% of (x+y), then what

percent of x is y?

A. a.20%

B.b.25%

C.c.30%

D. d. 40%

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PRhobUJPvJzk
https://dl.doubtnut.com/l/_bYFRCImvNsKx
https://dl.doubtnut.com/l/_FC2B5biZTMBm

26. ajay and his wife kajal , the probability of ajay

's section s - and theat of his wife kajal 's

1
section is 5 . What is the probability that

atleast one of them will be selected ?

(GL) N Q| = (@)
m|l\9 ~ | I 3|

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FC2B5biZTMBm

27. ajay and his wife kajal , the probability of ajay

1
's section s z and theat of his wife kajal 's

1
section is 5 . What is the probability that

atleast one of them will be selected ?

12
35
6
35
24
35

D. none of these

Answer: C

[ - |


https://dl.doubtnut.com/l/_FC2B5biZTMBm
https://dl.doubtnut.com/l/_6v8Y5IK9kdX7

I OV Watch Video Solution I

28. ajay and his wife kajal , the probability of ajay

's section is - and theat of his wife kajal 's
1

section is 5 . What is the probability that

atleast one of them will be selected ?

A 11
35

24

35


https://dl.doubtnut.com/l/_6v8Y5IK9kdX7
https://dl.doubtnut.com/l/_y7KmHlRd4aBC

Answer: A

o Watch Video Solution

29. A speaks truth in 60% and Bin 80% of the
cases. In what percentage of cases are they
likely to contradict each other narrating the
same incident?

A 44 %

B.36 %

C.64 %


https://dl.doubtnut.com/l/_y7KmHlRd4aBC
https://dl.doubtnut.com/l/_qvmNaj1f6HSQ

D. 48 %

Answer: A

° Watch Video Solution

30. One fifth of a number is 62. What will 73% of

that number be?

A.a.198.7

B.b.212.5

C.c. 2263


https://dl.doubtnut.com/l/_qvmNaj1f6HSQ
https://dl.doubtnut.com/l/_SnWnjyHH7TEh

D.d. 2348

Answer: B

° Watch Video Solution

31. Two third of three fourths of one fifth of a

number is 15. What is 30% of that number?

A a.45

B. b. 60

C.c.75


https://dl.doubtnut.com/l/_SnWnjyHH7TEh
https://dl.doubtnut.com/l/_Ew1CmPKYsQUX

D.d. 30

Answer: A

° Watch Video Solution

32. Three critics review a book odds in favour of
the book are 5 :2,4:3 and 3 :4 respectively for
the critics find the probability that majority are

in favour of the book

A 108
" 343

5 209
" 343


https://dl.doubtnut.com/l/_Ew1CmPKYsQUX
https://dl.doubtnut.com/l/_b972TgmzNVfL

Answer: B

° Watch Video Solution

33. 3/4th of 2/3rd of 1/5th of a number is 249.6.

What is 50% of that number?

A.a.3794

B.b.3749


https://dl.doubtnut.com/l/_b972TgmzNVfL
https://dl.doubtnut.com/l/_v8j1rWCd88Fr

C.c.3734

D. d. none of these

Answer: C

o Watch Video Solution

34. Ishan spent rs. 35645 on buying a bike, rs.
24355 on television and the remaining 20% of
the total amount he had cash with him. What

was the amount?

A. a.rs. 60000


https://dl.doubtnut.com/l/_v8j1rWCd88Fr
https://dl.doubtnut.com/l/_3rzNoeol56p3

B. b.rs.72000

C.c.rs. 75000

D. d. rs. 80000

Answer: B

o Watch Video Solution

35. Sonal spent rs. 45760 on the interior
decoration for her home, rs. 27896 on buying air

conditioner and the remaining 28% of the total


https://dl.doubtnut.com/l/_3rzNoeol56p3
https://dl.doubtnut.com/l/_mMwhDseg92aX

amount she had as cash with her. What was the

total amount?

A. a.rs. 98540

B. b.rs. 102300

C.c.rs. 134560

D. d. cannot be determined

Answer: B

© Watch video solution



https://dl.doubtnut.com/l/_mMwhDseg92aX

36. Rajesh spent rs. 44620 on diwali shopping,
rs. 32764 on buying computer and the
remaining 32% of the total amount he had as
cash with him. What was the total amount?
A.a.rs.36416
B. b. rs.113800

C.c.rs. 77384

D. d. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iK1D3mA5nJrH

37. Harjeet spends 50% of his monthly income
on household items, 20% of his monthly income
on buying clothes, 5% on medicines and the
remaining amount of rs. 11250 he saves. what is
his monthly income?

A.a.rs.38200

B. b.rs.34000

C.c.rs.41600

D. d. rs.45000


https://dl.doubtnut.com/l/_iK1D3mA5nJrH
https://dl.doubtnut.com/l/_hi4FTrDeWHJi

Answer: B

o Watch Video Solution

38. A man buys an article for rs. 27.50 and sells it

for rs. 28.60. Find the gain percent.

A. a. 4%

B.b.3%

C.c.5%

D. d. 10%


https://dl.doubtnut.com/l/_hi4FTrDeWHJi
https://dl.doubtnut.com/l/_ziCtPZLcKrR2

Answer: B

° Watch Video Solution

39. If a radio is purchased for rs. 490 and sold

for rs. 465.50. Find the loss %.

A. a.6%

B.b.5%

C.c. 4%

D.d.3%


https://dl.doubtnut.com/l/_ziCtPZLcKrR2
https://dl.doubtnut.com/l/_dx57QvRXpZ1H

Answer: B

o Watch Video Solution

40. A man is known to speak the truth 3 out of 4
times. He throws a dice and reports that it is a

six. Find the probability that it is actually a six.

@ >
l\'_‘3|}_l 0|~ oo ot oo w

0

o



https://dl.doubtnut.com/l/_dx57QvRXpZ1H
https://dl.doubtnut.com/l/_JE90jXPXPkap

Answer: A

o Watch Video Solution

41. Find SP when CP =Rs. 56.25 and Gain = 20%.

A.a.rs.72

B.b.rs.675

C.c.rs. 50

D.d.rs.75

Answer: B



https://dl.doubtnut.com/l/_JE90jXPXPkap
https://dl.doubtnut.com/l/_sUgJiUjoBvu9

) Watch Video Solution

Exercise Level 1

1. Find SP when CP =rs. 80.40 and loss= 5%?

A. a. rs.81

B.b.rs.84.72

C.c.rs.76.38

D.d.rs.82.9

Answer: B



https://dl.doubtnut.com/l/_sUgJiUjoBvu9
https://dl.doubtnut.com/l/_G2iv9ZdtisFS

\ ° Watch Video Solution

2. Find CP when SP=rs. 40.60, gain = 16%?

A.a.rs.35

B. b. rs.50

C.c.rs.75

D.d.rs. 89

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_G2iv9ZdtisFS
https://dl.doubtnut.com/l/_niSvsEst6dez

3. Find CP when SP=rs. 51.70 and loss= 12%?

A. a.rs.58.75

B.b.rs.62.25

C.c.rs.65

D. d. rs.69.27

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_z7rXznZDLXD0

4. If the cost price is 80% of the selling price,

then what is the profit percent ?

A.a.20%

B.b.25%

C.c.80%

D. d. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3Wx4sTxEmki0

5. What is S.I. of rs. 800 on 5% per annum for 3

years?

A.a.120

B.b. 140

C.c. 210

D.d. 230

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_X4r8qwqIGadv

6. How many years will it take for amount of rs.
600 to yield rs. 120 as interest at 10% per

annum of S.I.?

A a.1year
B. b. 2year
C.c.3 year

D.d. 4 year

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VMYIPvHlO2p5
https://dl.doubtnut.com/l/_YeoKbU8rfsqu

7. A sum of rs. 15000 amount gave rs. 4500 as

interest in 5year. what is rate of interset?

A a.3%

B.b.4%

C.c.5%

D.d. 6%

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YeoKbU8rfsqu

8. Two integers x and y are chosen with
replacement out of the set {0, 1, 2, 3, ... 10). Then

the probability that [x-y | > 5is:

AL
11

5 40
S 121

35
121

30

> 121

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_79zzGaYMEZ3v
https://dl.doubtnut.com/l/_66rzbXCqKUAL

9. What would be the C.I. on amount rs. 12500 at

the rate of 12% p.a. after 2 years?

A. a. 3180rs.

B. b. 3360rs.

C.c.3540rs.

D.d. 3720rs.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_66rzbXCqKUAL

10. If 6 objects are distributed at random among
6 persons, the probability that atleast one of

them will not get any thing is :

D. none of these

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_iXBURON3QjGn
https://dl.doubtnut.com/l/_unVY8MGobZBm

1. The difference between simple and
compound interest compounded annually on a
certain sum of 10000 is 64 for 2 years. Find the
interest?

A.a.8%

B. b. 64%

C.c. 4%

D.d. 2%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_unVY8MGobZBm

12. Four numbers are multiplied together. Then
the probability that the product will be divisible

by50r10is:

A 169
2. o

5. b 369
625

169
“ 1626

D. d. none of these

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_unVY8MGobZBm
https://dl.doubtnut.com/l/_IotNc3W8OtXQ

13. 8 couples (husband and wife) attend a dance
show "Nach Baliye' in a popular TV channel , A
lucky draw in which 4 persons picked up for a
prize is held, then the probability that there is

atleast one couple will be selected is :

A 8
3. 59

Bb15
39

12

C.c.—
“713

D. d. none of these


https://dl.doubtnut.com/l/_IotNc3W8OtXQ
https://dl.doubtnut.com/l/_DsGYchlh2flD

Answer: B

o Watch Video Solution

14. Three persons AB and C are to speak at a
function along with five others. If they all speak
in random order, the probability that A speaks

before B and B speaks before C is

>
)

g w
N o :
N[ = o]~ o o


https://dl.doubtnut.com/l/_DsGYchlh2flD
https://dl.doubtnut.com/l/_6SvTKrxxZ75H

D.d. -

Answer: B

° Watch Video Solution

15. A bag contains 16 coins of which 2 coins are
counterfeit with heads on the both sides. The
rest are fair coins. One is selected at random
from the bag and tossed. The probability of

getting a head is :


https://dl.doubtnut.com/l/_6SvTKrxxZ75H
https://dl.doubtnut.com/l/_1izHlT5UzrVL

Answer: C

o Watch Video Solution

16. A committee of five persons is to be chosen
from a group of 9 people. The probability that a
certain married couple will either serve together

ornotatallis:


https://dl.doubtnut.com/l/_1izHlT5UzrVL
https://dl.doubtnut.com/l/_Wqpmiy2dGeZI

Aa.4/9
B.b.5/9
C.c.13/18

D. d. none of these

Answer: A

° Watch Video Solution

17. A speaks truth in 60% cases and B speaks

truth in 70% cases. The probability that they will


https://dl.doubtnut.com/l/_Wqpmiy2dGeZI
https://dl.doubtnut.com/l/_EmArqyn7sOn0

say the same thing while describing a single

event is:

A.a.0.36

B.b.0.54

C.c.0.48

D.d.0.20

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EmArqyn7sOn0

18. Two squares are chosen at random on a
chessboard, the probability that they have a

side in common is:

C.1/18

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sKMt9XjIsbzC
https://dl.doubtnut.com/l/_8Le8ku6gRup1

19. An old person forgets the last two digits of a
telephone number, remembering only that
these are different dialled at random. The
probability that the number is dialled correctly
Is :

A.1/90

B.81/91

C.2/99

D. none of these

Answer: A

f _ 1


https://dl.doubtnut.com/l/_8Le8ku6gRup1

‘ o Watch Video Solution

20. Three squares of a chessboard are chosen at
random. the probability that two are of one

colour and one of another is :

o 57
- 992

. 16
" 21

c 31
" 32

D. none of these

Answer: B

f 1


https://dl.doubtnut.com/l/_8Le8ku6gRup1
https://dl.doubtnut.com/l/_WMrL4KWQee6V

o Watch Video Solution |

21. The probability that a leap year selected ar
random contains either 53 sundays or 53

mondays, is

17

" 53

D. none of these

Answer: C

[ = 1


https://dl.doubtnut.com/l/_WMrL4KWQee6V
https://dl.doubtnut.com/l/_TwDMYRhHRfmV

I ) Watch Video Solution

22. In order to get atleast once a head with

probability P > 0.9. the number of times a coin

needs to be tossed is :

A.3

B.2

C.5

D.4

Answer: D



https://dl.doubtnut.com/l/_TwDMYRhHRfmV
https://dl.doubtnut.com/l/_0RPJxaAQRh5b

| @Y Watch Video Solution

23. Out of 13 applicants for a job, there are 5
women and 8 men It is desired to select 2
persons for the job. The probability that atleast

one of the selected persons will be a woman is.

A 25
-3 39

Bb31
65

c 25
-C 59

Dd5
13


https://dl.doubtnut.com/l/_0RPJxaAQRh5b
https://dl.doubtnut.com/l/_DkYz9erRhrrq

Answer: A

° Watch Video Solution

24. The difference between C.I. and S.I. on rs. 700

in 2 years at 5% p.a. is:

A.a.rs.10

B.b.rs.5

C.c.rsl

D.d.rs.1.75


https://dl.doubtnut.com/l/_DkYz9erRhrrq
https://dl.doubtnut.com/l/_jXrUiN75pIw1

Answer: B

o Watch Video Solution

25. Seven digits from the numbers 1, 2, 3, 4, 5, 6,
7, 8 and 9 are written in random order. The
probability that this seven digit number is

divisible by 9 is :

>
Q

w
_Q_D_|M ol ©|

N
0


https://dl.doubtnut.com/l/_jXrUiN75pIw1
https://dl.doubtnut.com/l/_vzEXJP1UFJKf

D.d. —

Answer: B

° Watch Video Solution

Exercise Level 2

1. What is the probability that four S's come

consecutively in the word MISSISSIPPI?

a2
165

4
B. —


https://dl.doubtnut.com/l/_vzEXJP1UFJKf
https://dl.doubtnut.com/l/_qMNA49FmMqY7

-
" 165

D. none of these

Answer: A

° Watch Video Solution

2. If a sum of money double itself in 4 years at

S.I. then the rate of interest per annum is?

A. a.25%

B. b.100%


https://dl.doubtnut.com/l/_qMNA49FmMqY7
https://dl.doubtnut.com/l/_t9dxUr0I7xWT

C.c. 50%

D. d. none of these

Answer: B

o Watch Video Solution

3. Nutan invest rs. 22400 on S.I. at the rate of

12% p.a. How much amount she will get after

seven year?

A. a. 41116

B. b. 41,216


https://dl.doubtnut.com/l/_t9dxUr0I7xWT
https://dl.doubtnut.com/l/_NbPkpBgt1Zjr

C.c.42]16

D.d. 42,216

Answer: B

° Watch Video Solution

4. a consignment of 15 record players contain 4
defectives .the record player are selected at
random one by one and examined. those

examined are not put back. calculate the


https://dl.doubtnut.com/l/_NbPkpBgt1Zjr
https://dl.doubtnut.com/l/_h8nxFfZo78Yp

probability that the 9th one examined is the last

defective

L
9795

17
B.b. ——
b 195

C 8
€ ToF

D, 16
" 195

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_h8nxFfZo78Yp

5. In a test, an examinee either guesses or
copies or knows the answer to a multiple choice
question with four choices. The probability that
1 .
he makes a guess is 3 and the probability that
he copies the answer is 1/6. The probability that
his answer is correct, given that he copied it, is
1/8. Find the probability that he knew the

answer to the question, given that be correctly

answered it.


https://dl.doubtnut.com/l/_0UP74jOft8Vi

Cc2—4
29

24
39

Answer: C

o Watch Video Solution

6. Given that the sum of two - negative quanties
is 200 , the probability that their product is not

less than 1 times their greatest product value

99
"~ 200



https://dl.doubtnut.com/l/_0UP74jOft8Vi
https://dl.doubtnut.com/l/_Xsm1Onvu8TP6

5. b 100
"~ 200

"~ 100

D. d. none of these

Answer: B

° Watch Video Solution

7. A pack of cards consists of 15 cards numbered
1 to 15. Three cards are drawn at random with
replacement. Then, the probability of getting

two odd and one even numbered cards, is?


https://dl.doubtnut.com/l/_Xsm1Onvu8TP6
https://dl.doubtnut.com/l/_qpZZbEFXxNqE

Answer: B

° Watch Video Solution

8. What time taken by sum of rs.7000 to become

rs.10500 at the rate of 5% per annum?


https://dl.doubtnut.com/l/_qpZZbEFXxNqE
https://dl.doubtnut.com/l/_wetSpAe6EDdQ

A. a. 8years

B. b. 10years

C. c. Syears

D. d. 15years

Answer: A

° Watch Video Solution

9. The difference between C.I. and S.l. at a certain
rate on rs. 2000 at the end of 2years is rs.12.8.

The rate of inerest is:


https://dl.doubtnut.com/l/_wetSpAe6EDdQ
https://dl.doubtnut.com/l/_sV8VdtJkYUSs

A. a.6.8%

B.b.8%

C.c.12.8%

D. d. 16.8%

Answer: C

° Watch Video Solution

10. The probabilities that a student passes in
Mathematics, Physics and Chemistry are m, p

and respectively. Of these subjects the student


https://dl.doubtnut.com/l/_sV8VdtJkYUSs
https://dl.doubtnut.com/l/_SKOTK7Ma3ap7

has 75% chance of passing in atleast one, a 50%
chance of passing in atleast two and a 40%
chance of passing in exactly, two, which of the

following relations are true.

A.p+m+c:£

20

13

Bp—l—m—l—c:2—0
1
C.pmc=1—0

D. Both (a) and (c)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SKOTK7Ma3ap7

11. A student appears for tests I. Il and lIl. The
student is considered successful if he passes in
test I. Il or I il or all the three. The probabilities
of the student passing in test I. Il and Il are m. n
1 , .
and 3 respectively. If the probability of the
1
student to be successful is — then which one of

2

the following is correct ?

Ap=149=0
B.p=0,g=1
21

q

D. infinitely many solutions


https://dl.doubtnut.com/l/_JFAcj951wS98

Answer: D

o Watch Video Solution

1+3p 1—p 1—2p
12. If
3 7 4 7 2

are probabilities

of three mutually exclusive events then

1
A.pZO,E
B.p:E 0

47
1 1

D. none of these


https://dl.doubtnut.com/l/_JFAcj951wS98
https://dl.doubtnut.com/l/_cDXTEGbGvIKC

Answer: A

o Watch Video Solution

13. A letter is takenout at random from
'ASSISTANT and another is taken out from
"STATISTICS'. The probability that they are the

same letters is:


https://dl.doubtnut.com/l/_cDXTEGbGvIKC
https://dl.doubtnut.com/l/_bbL76lqfnorG

D. d. none of these

Answer: B

° Watch Video Solution

14. A sum of money doubles in 3 years at

compound interest compounded annually. It will

becomes 4 times of itself in:

A. a. 12 years

B. b. 9 years

C.c. 6 years


https://dl.doubtnut.com/l/_bbL76lqfnorG
https://dl.doubtnut.com/l/_UoQLnqR3N1DJ

D. d. none of these

Answer: B

° Watch Video Solution

15. A man takes a step forward with probability
04 and back ward with probability 0.6. The
probability that at the end of eleven steps he is

one step away from the starting point is:

A a. 1106(0-1)11

B.b.11C;(0.24)°


https://dl.doubtnut.com/l/_UoQLnqR3N1DJ
https://dl.doubtnut.com/l/_Skc24oVziJU3

C.c 1106(0-2)11

D. d. none of these

Answer: B

° Watch Video Solution

16. Three of the six vertices of a regular hexagon
are chosen at random. The probability that the
triangle with these three vertices is equilateral

equals :


https://dl.doubtnut.com/l/_Skc24oVziJU3
https://dl.doubtnut.com/l/_Z9WLhKfNhVa8

Bb1
-b. 3
1

C.c

10

D. d. none of these

Answer: C

° Watch Video Solution

17. What is the difference between C.l. and S.I. of

rs.12000 on 5% p.a. for 2 years?

A.a.35


https://dl.doubtnut.com/l/_Z9WLhKfNhVa8
https://dl.doubtnut.com/l/_Gcpaigq95B5j

B.b. 25

C.c.30

D.d. 40

Answer: B

o Watch Video Solution

18. Urn A contains 6 red and 4 black balls and
urn B contains 4 red and 6 black balls. One ball
is drawn at random from urn A and placed in

urn B. Then, one ball is drawn at random from


https://dl.doubtnut.com/l/_Gcpaigq95B5j
https://dl.doubtnut.com/l/_LMiV2Z35Lx5P

urn B and placed in urn A. If one ball is drawn at
random from urn A, the probability that it is

found to be red, is....

32
65
32
55
23
55
56

D. —
65

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LMiV2Z35Lx5P

19. The digits 1,2,3,...,9 are written in random
order to form a nine digit numberFind the

probability that this number is divisible by 11.

c 11
126

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QH7AsNLtuJgL




